MECHANICAL ENGINEERING
Paper-1

1.  The [110] direction in a cubic unit cell is parallel to the following :
(a) Face diagonal of unit cell
(b) Edge of the cube
(c) Body diagonal of the cube
(d) None of the above

2. When mechanical properties of a material remain same in all directions at each point, such
a material is called

(a) Isotropic

(b) Homogenious
(c) Orthotropic
(d) Anisotropic

3.  German silver is an alloy of
(a) Silver and Tin
(b) Silver and Gold
(¢)  Nickel and Copper
(d) Nickel, Copper and Zinc

4. TIronis ‘Face Centered Cubic (FCC) at which one of the following temperatures ?
(a) Room temperature
(b) 1400 °C
(c) 910°C
(d) None of the above

S.  Babbit metal is an alloy of which one of the following ?
(a) Lead and Tin
(b) Lead and Magnesium
(¢) Tin and Bismuth
(d) None of the above

6.  Griffith theory of failure is suitable for
(a) Mild Steel
(b) Low Carbon Steel
(c) Alloy Steel
(d) Glass
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7.  Mild Steel is an example of

(a)  Substitution solid solution
(b) Interstitial solid solution
(c) Inter metallic compound
(d) None of the above
8.  Bronze contains
(@) 70% Cu and 30% Zn
(b) 90% Cu and 10% Zn
(¢) 75% Cu and 25% Zn
(d) None of the above
9.  The processes, used to make the steel magnetically softer, are
(a) Annealing and Decarburization
(b) Decarburization and Quenching
(c) Annealing, Grain growth and Decarburization
(d) Grain growth and Quenching
10. The ductile-brittle transition temperature
(a) depends on size and shape of material, rate of loading, presence of notches,
impurities and operating temperature
(b) depends on size but does not depend on shape of material
(c) does not depend on size of material
(d) does not depend on rate of loading but depends on presence of impurities
11. Match the items in List — 1 to that of the List — 2 and choose the correct alternative.
List-1 List - 2
A.  AlnicoV 1.  Metallic Magnet
B.  Ferrexodur 2. Ceramic Magnet
C. Nickel Oxide 3. Anti ferromagnetic
D. Ferrites 4. Compounds containing trivalent iron
5. Ferrimagnetic
6.  Soft magnetic
Alternatives :
A B CcC D
(@ 1 2 3 4
(b) 6 2 3 4
c) 4 6 1 2
d 2 1 6 1
12. Choose the correct statement from the following :
(a) Ceremic compounds involve simple coordination than their corresponding
components.
(b) Ceremic compounds are more ductile.
(c) Ceramic compounds are more stable with respect to thermal and chemical
environments than their components.
(d) Ceramic compounds have less resistance to slip.
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13.

14.

15.

16.

Note : Q. No.13to 16 :

Choose the alternative from the code given below which explains the correct relationship
between the Assertion (A) and Reason (R) :

Assertion (A) : Metallic Magnets cannot be used in high frequency circuits.

Reason (R) : The low resistivity of metallic magnets permits heating from induced
currents.

Code :

(a) (A)is true, but (R) is false.

(b) (A)is false, but (R) is true.

(c) Both (A) and (R) are true, but (R) does not explain (A) correctly.
(d) Both (A) and (R) are true and (R) explains (A) correctly.

Assertion (A) : Little energy is required to break materials such as glass, polystyrene
and some cast irons. Conversely, rubber and many steels absorb
considerable energy in the fracture process.

Reason (R) : The service limit in many engineering products is not the yield or
ultimate strength, rather may be the energy associated with fracture
propagation.

Code :

(a) Both (A) and (R) are true and (R) explains (A) correctly.

(b) Both (A) and (R) are true but (R) does not explain (A) correctly.
(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

Assertion (A) : In general, materials deform more readily at elevated temperature.

Reason (R) : Plastic deformation commonly arises from dislocation movements
that involve a continual displacement of atoms to new neighbours at
elevated temperature.

Code :

(a) (A)is true, but (R) is false.

(b) (A)is false, but (R) is true.

(c) Both (A) and (R) are true and (R) explains (A) correctly.

(d) Both (A) and (R) are true, but (R) does not explain (A) correctly.

Assertion (A) : Soft magnets are the obvious choice for ac or high frequency
applications.

Reason (R) : They must be magnetised and demagnetized many times per second.

Code :

(a) Both (A) and (R) are true, but (R) does not explain (A) correctly.
(b) Both (A) and (R) are true, and (R) explains (A) correctly.

(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.
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17. Dielectric strength can be reduced by
(a) removing cracks (b) absence of imperfections
(c) absence of flaws (d) impurities, cracks and pores

18. Select the correct answer out of the following alternatives about ‘Cyclic Stresses’.
(a) That a material can tolerate are much greater than stresses produced under static
loading.
(b) Can lead to fatigue if the stress level is above the endurance limit.
(c) Can lead to fatigue if the stress level is below the endurance limit.
(d) Are not introduced in the axle of a running train.

19. Dislocation in material is called
(a) Point defect (b) Line defect
(c) Plane defect (d) Volumetric defect

20. Match the items in List — 1 to the corresponding items in the List — 2.

List-1 List - 2
(Heat Treatment) (Effect on Properties)
A. Annealing 1. Refine grain structures
B.  Nitriding 2. Improves the hardness of the whole mass
C. Martempering 3.  Improves surface hardness
D. Normalising 4.  Improves ductility

Choose the correct from the following :
A B C D

@ 3 1 4 2
b 3 1 2 4
c 1 3 4 2
@ 1 3 2 4
21. The crystal structure of o-iron is
(a) Simple cubic (b) Face centred cubic
(c) Body centred cubic (d) Close-packed Hexagonal

22. Select the proper sequence for the following :

1.  Proportional limit 2. Elastic limit
3.  Yield point 4.  Fracture/failure point
(a 1-2-3-4 (b) 2-1-3-4
(c) 1-2-4-3 d 2-1-4-3

23. The macro-structure of a material is generally examined by
(a) X-ray techniques (b)  Spectroscopic techniques
(c) Optical microscope (d) Metallurgical microscope
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34.

Gradual time dependent deformation under constant load or self weight is called

(a) Erosion (b) Decay

(c) Tension (d) Creep

Which ingredient is responsible for corrosion resistant capability in Stainless Steel ?
(a) Iron (b) Chromium

(c) Zinc (d)  Sulphur

The property of material, which enables it to withstand bending without fracture, is known
as

(a) Mechanical strength (b) Stiffness

(c) Flexural rigidity (d) Ductility

The material commonly used for making machine tool bed is

(a) Mild Steel (b) Aluminium

(c) Brass (d) CastIron

Which one of the following is the ferrous material ?

(a) Zinc (b) Iron

(¢) Silicon Carbide (d) Copper

Babbit materials are used for

(a) Gears (b) Bearings

(c) Bolts (d) Clutch liners

The ultimate tensile strength of low Carbon Steel by working at high strain rate will
(a) increase (b) decrease

(c) remain constant (d) first increase, then decrease

Pure iron is the structure of

(a) Ferrite (b) Pearlite
(c) Austenite (d) Cementite
An example of amorphous material is

(a) Zinc (b) Lead

(¢) Glass (d)  Sulphur
Binding material in cemented carbide tool is

(a) Graphite (b) Lead

(c) Carbon (d) Cobalt

Which of the following are the reasons for reduction of tool life in a machining
operation ?

1.  Temperature rise of cutting edge.

2. Chipping of tool edge due to mechanical impact.

3. Gradual wear at tool point.

4.  Increase in feed of cut at constant cutting force

Select the answer from the following :

(a 1,2&4 (b)) 1,2&3

(c) 1,3&4 d 1,2,3&4
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35. Choose the alternative, which explains the correct relationship between the given
statements, (A) & (R) from the code given below :

Assertion (A) : In ECM, the shape of the cavity is the mirror image of the tool, but
unlike EDM, the tool wear in ECM is a cathode.

Reason (R) :  The tool in ECM is a Cathode.

Code :

(a) Both (A) & (R) are true. (R) is the correct explanation of (A).

(b) Both (A) & (R) are true. (R) is not the correct explanation of (A).
(¢) (A)is false, but (R) is true.

(d) (A)is true, but (R) is false.

36. An orthogonal cutting operation is being carried out under the following conditions :
Cutting Speed = 2 m/sec, Depth of cut = 0.5 mm, Chip thickness = 0.6 mm.
What is the chip velocity ?
(a) 2 m/sec (b) 2.4 m/sec
(¢) 1m/sec (d) 1.66 m/sec

37. The rake angle of a cutting tool is 15°, the shear angle is 45° and the cutting velocity is
35 mpm. What is the velocity of chip along the tool face ?

(a) 28.5 mpm (b) 27.3 mpm
(¢) 253 mpm (d) 23.5 mpm

38. In EDM, metal removal rate is proportional to
(a) Frequency of charging (b)  Energy delivered in each spark
(c) Both (a) and (b) (d) None of the above

39. Which of the following is not true in case of jigs and fixtures ?
(a) Consistency in dimension (b)  Fast production speed is not possible
(¢) Auto-location control (d) None of the above

40. The upper and lower control limits in case of R-chart are given by
(@ AR&AR (b) D,;R&D,R
(0 R*D;R (d R*AR
41. A cutting tool is turning a work piece of 40 mm diameter, revolving at 300 rpm. If tool

life is 120 min, find the value of constant C as per the Taylor’s tool life equation,
Assuming n = 1/7.

(a) 85 (b) 80
() 70 d 75
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48.

49.

50.

S1.

52,

Which of the following should be more to reduce wear of a tool ?

(a) Weight (b) Density

(c) Hardness (d) (b) & (c) both

Which of the following instruments is used to measure smoothness of a metallic surface ?
(a) Talysurf (b) Coordinate Measuring Machine

(c) Profile Projector (d) None of the above

Life of a single point cutting tool is influenced by which of the following factors ?

(a) Cutting speed (b) Feed rate

(c) Depth of cut (d) All the above

The Plug gauge is used to

(a) Check the size and shape of holes

(b) Measure the diameter of holes

(c) Measure the diameter of shafts

(d) Measure the diameters of shafts & holes

The relationship between the shear angle (), friction angle (B), cutting rake angle (o)and
the machining constant (C) for the work material is

(@A 20+p-0=C (b) 20+PB+0=C

¢ 20 +p-a=C d 20 +B+a=C

Explosive forming is not used for the following :
(a) Making very small complex parts.

(b) For large parts typical of aerospace industry.
(c) Both (a) & (b) above are correct.

(d) None of the above is correct.

In Electro-Discharge-Machining (EDM), the tool is made of

(a) High Speed Steel (b) Copper

(c) CastIron (d) Glass

The process in which the material removal rate is governed by Faraday’s law is ?
(a) ECM (b) EDM

(c) AIM (d) LBM

In USM, the tool is vibrated with the frequency of

(a) SkHz (b) 10kHz

(c) 15kHz (d) 20kHz

Continuous chips will be formed when machining speed is

(a) low (b) medium

(c) high (d) independent of speed
Profile of a gear tooth can be checked by

(a) Optical projector (b)  Optical pyrometer
(c) Bench micrometer (d) Sine bar.
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(a) oTTEehet Moty (b)  Tiftesher TrEAHIeY
(c) o HEhIHR (d) WEATR
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5S.

56.

57.

58.

59.

60.

61.

For TIG welding, which of the following gases are used ?
(a) Hydrogen and Carbon-di-oxide (b)  Argon and Helium
(c) Argon and Neon (d) Hydrogen and Oxygen

Which of the following materials require the largest shrinkage allowance while making a
pattern for casting ?

(a) Aluminium (b) Brass

(c) CastIron (d) Duralumin

Which of the following values of index n is associated with carbide tools when Taylor’s

tool life equation VT™ = constant is applied ?
(@) 0.65t00.90 (b) 0.45t00.60
(c) 0.20t00.40 (d 0.10t00.15

In an orthogonal cutting experiment, with a tool of rake angle y = 75° and shear angle
¢ =22.8°, then friction angle 3 will be

(a) 41.9° (b)y 51.4°

(c) 61.2° (d) None of the above
Which of the following operation does not use a jig ?

(a) Tapping (b) Reaming

(c) Drilling (d) Turning

Which of the following are the quality control limits for p-charts ?

@ p*3\p(1p) ® VPP
——
© pr\ PR @ p*3\np(1-p)

Which is the false statement about electro discharge machining ?
(a) It can machine very hard material.

(b)  Very good surface finish is obtained.

(c) Section to be machined should be thick.

(d) Metal removal rate is very slow.

Choose the false statement from the following :
(a) Control chart indicate whether the process is in control or not.

(b) X and R charts are used to evaluate dispersion of measurements.
(c) P-chartis a control chart for percentage defective.
(d) C-charts are prepared for large and complex components.

The following is not the characteristics of explosive forming :
(a) Low capital cost of the set up.

(b)  Very large components can be formed.

(c) Only a simple die is required.

(d) The tooling material is very expensive.
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TIG sfeet & fou Fefafad 4 9 & 9@ 71 E 53T 5 o S € 2

(a) TTESISH T e ST SATHAZS (b) 3T TN Elferas

(c) AN & = (d)  ETEgISH T SRS

TS o HIaed I § Ffeiad § | A § 9a1d & 7w 31feshas e 92 &t Sl € ?

() it (b) Tt

(c) Torel @ (d) g

ST TR 6 ISR 3T FHROT VTN = Feieh st o] foman ST €, dt fefetiad omt § @ i a1
A FEhih n FETES SSRI § FrIf-ed & ?

(@) 0.65¥0.90 (b) 0.45%0.60

(c) 0.20¥0.40 (d 0.1090.15

TFH AT RN FHaRT TN § AE 3R HT STEHT 0T y = 75° 3T STIEIUT 0T
¢ = 22.8° &, T T HOT B T BT 2

(a) 41.9° (b) 51.4°

() 61.2° (d) SugdwH Y HIE TRl

feferiae s | ufshan & f57 &1 v T2 gt e 2

(a) TI=hrg (b) TEgEEA

(c) =& (d) TR

p-TTE 3 Tt Turer fesor Hamd fHefefead § 9w @€ ?

(@ px3\pU-p) ® px\pU-p
S

© pt\[RUR @ p+3\np (1)

A= TarasT= A= & IR § i 91 e Tel el ¢ 2
(a) € I FHIR YT HT TN F FhT ¢ |
(b) TET TSI USRI AT &Il & |

(c) TR A % forg uiesss Aier gl =y |
(d) TSI JFRIUT R Tg HH € |

= H oI R BN
(a) THI=OT 3 @ Hehd fyerdn & T wishan =T & € ar =@t |

(b) X 3R R 3R [ ST HIGH T theqrel A0+ H BT g |
(c) P-3TR@ UfaeTd ISt & fotg Feamr sRE € |
(d) C-3TE & T STieel Scarel o feld s S € |

et foremiel SifaT w1 STiTeTe o Tei @
(a) W< 3T A FH YT AN |

(b) TEI TS TFAT il BrH AT ST THATE |
(c)  orel Ueh &1 ST o STavaehal et € |
(d) SR 98T 9gd HEM erar € |
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69.

The following is not true for ECM :

(a) It can machine highly complicated shapes in a single pass.

(b) Tool life is very high.

(c) Machinability of the work material is independent of its physical and mechanical
properties.

(d) Kerosene is use as electrolyte.

Electro-discharge machining uses the following dielectric fluid :
(a) Kerosene (b)  Sodium hydroxide
(c) Water (d) Aqueous salt solution

A good machinability rating would indicate

(a) long tool life, high power requirement and less machining time.

(b) long tool life, low power requirement and a good surface finish.

(c) short tool life and a good surface finish.

(d) long tool life, high power requirement and a good surface finish.

In EDM process, the workpiece is connected to

(a) Cathode (b) Anode

(c) Earth (d) None of the above

A hole of 1 mm is to be drilled in glass. It could be best done by

(a) Laser drilling (b) Plasma drilling

(c) Ultrasonic drilling (d) Electron beam drilling

A comparator for its working depends on

(a) comparison with standard such as slip gauges
(b) accurately caliberated scale

(c) optical device

(d) limit gauge

TMU means
(a) Time Motion Unit (b) Time Method Unit
(¢c) Time Measurement Unit (d) Time Movement Unit

Choose the Correct relationship between the given statements of Assertion (A) and
Reason (R).

Assertion (A) : In case of control charts for variables, if some points fall outside the
control limits, it is concluded that process is not under control.
Reason (R) : It was experimentally proved by Shewart that averages of four or

more consecutive readings from a universe (population) or from a
process, when plotted, will form a normal distribution curve.

Code :

(a) Both (A) and (R) are correct. (R) is the correct explanation of (A).

(b) Both (A) and (R) are correct. (R) is not the correct explanation of (A).

(¢) (A)is correct, but (R) is in correct.

(d) (A)isincorrect, but (R) is correct.
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ECM % feru frrefetfiaa a8t @i &

(a) TEUH U T g NP Seet Al i TINT FR ThAT € |

(b) 3SR 3T g MUFH T |

(c) ook ST i HNAHITAT ST Hifdeh T Serehd ot WX F¥R F& & |
(d) T St A TTIST Y ARG T {HAT AAT & |

feregar forte wefee & RTeRa 5o uge e €

(a) T A (b) wifead eSS
(c) = (d) STelT THe & oA
Teh 3T TR WIET & g9maht

(a) T BNIR 3T, 3= SMEvah o, =g A hret

(b) T NI 3T, Y ST IR, TAT TSN I3 IR
(c) HE ISR g T Ueh TSt IS YRS

(d) T 3SR 3T, 3= 3Mavash o] qT Ueh 37wl It Tosll

EDM WshH | SREUE i (=Toiiad 9 SIer siare
(a) HAE (b) THE
(c) g= (d) ST H G HIE Tal

W H | . DT HATE | I8 Gl 3771 fondeh g1 foman T Hehe1 & 2
(a) TR (b) ST A
(c) WA qEA (d) TR ST e

T A 310 M o foiu = R R e
(a) T o G o ST Feerd et (b) T IV-INE YA W
(c) WemTeiE R (d) e

TMU =7 319 g e
(a) AT g (b) TFIHYS T
(c) 9T HIYA g+ (d) TEIgaHe gHe

A (A) T FHRT (R) H Tel Haier wnfud e aret foehed st 9w |

FIT (A) ;T = % e, otR $9 fog e I & R €, 4t @ e
fTeRTeT ST Tkl & Tob fehan FEaoT 5 &1 € |

HRT (R) : Yo gRT vATeTe fafy & a7 faeg fohan o1 o ue srete steran ueh uhhan 9
IR AT 3G 31T AR AfET & 3fa i wite o S €, ot a8 aer

feiqem ok T € |
%l

(@) TE(A) T (R) TEE | (R), (A) Fl Tl ATATE |
(b) T (A) T (R) TEIE 1 (R), (A) ! T&l ATATTEN & |
(©) (A WEE, AfFT (R) W TEI& |

(d) (A) T&l T&l &, wfeh (R) WeT € |
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Which one of the following is most important parameter for EDM ?
(a) Thermal capacity (b) Hardness
(c) Strength (d) Geometry

Which of the following is not the characteristics of work sampling ?
(a) Any interruption during study will not affect the results.

(b) The study causes less fatigue.

(c) Uneconomical for short cycle jobs.

(d) A stop watch is needed.

Which one of the followings statements is not correct regarding simplex method of linear
programming ?

(a) Itis an iterative procedure.

(b) It has a trial basic feasible solution to constraints.

(c) The collection of feasible solution does not constitute a convex set.
(d) It improves the first trial solution by a set of rules.

The following is not true for linear programming problems :

(a) Objective function is expressed as a linear function of variables.
(b) Resources are not limited.

(¢) Some alternative course of actions are also available.

(d) Decision variables are inter related.

Which of the following are said to be the benefits of assembly line balancing ?
1. It mimises the in-process inventory.

2. Itreduces the work content.

3. It smoothens the production flow.

4. It maintains the required rate of output.

Select the correct answer using the codes given below :

Code :
(@) 1,2and3 (b) 2,3and4
(¢) 1,3and4 (d 1,2and4

Value Engineering is concerned with the saving of
(a) Un-necessary costs

(b) Administrative difficulties

(c) Overhead costs

(d) Time

Series-A 20 SES-05



70.

71.

72.

73.

74.

75.

fereret feamst 9et== (EDM) & fetu fmfeiiad | & i §1 Ueh Haifes Heweqol € ?
(a) ST eRen (b) T
(c) wmeA (d) efufa

=1 9 @ = |1 wfaaaa w6 atfirersTor T8 € 2

(a) 3T & IR [T ff Wb Sl TehIaIE GROTHT <l T el il € |
(b) TEITH FH I B € |

(c) T =5k SHeTahl o [oTT TS |

(d) 9 9T F AETHATEIAE |

ek T o Tavcter fafyy o fofe FHefafead § @ i 91 U H2 98 el § ?
(a) TE T Ao et & |

(b) TEH T & oL Ueh TR SR YT gA 2T g |

(c) T &1 o TUE SOHE = Fel o € |

(d) TE, e W & I & T §RT gURAT € |

e T gaEnet & fou fefate w8 e e

(a) SEYT el o WAl o IREeh Hoi H e fohal ST & |
(b) EEE HiHT TEIE |

(c) T dhicyeh oha fafar off STeter € |

(d) THOTT yTereT WER Fea g |

ST e e o (1 § 9 i & 1Y o8 51 € ?
1. V5T % STERTT Ao T a9 e € |

2. Tfea Gfshamd & & ST € |

3. IS VAT i SEE AT |

4,  EYTH AT T EATE |

T fST Feit i FerEdr ¥ el W g

Fe:

(a 1,233 (b) 2,334

(c) 1,334 (d 1,234

T iRl =R i a=a 9 Tefad @

(a)  SFAERIH AT (b) VR HicTEam
(c) SUNTNS T (d 9=
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Note Q. Nos. 76-77 : Choose the correct relationship between the given statements of
Assertion (A) and Reason (R) :

Assertion (A) : Value analysis is superior to other conventional cost reduction
techniques.
Reason (R) : In conventional cost reduction techniques, value is increased by

widening tolerance bands.
Code :
(a) Both (A) and (R) are true. (R) is the correct explanation of (A).
(b) Both (A) and (R) are true. (R) is not the correct explanation of (A).
(¢) (A)is true, but (R) is false.
(d) (A)is false, but (R) is true.

Assertion (A) : Vogel’s approximation method yields the best initial basic feasible
solution of a transportation problem.
Reason (R) :  Vogel’s method give allocations to the lowest cost elements of the

whole matrix.
Code :
(a) Both (A) and (R) are correct. (R) is the correct explanation of (A).
(b) Both (A) and (R) are correct. (R) is not the correct explanation of (A).
(¢) (A)is correct, but (R) is false.
(d) (A)is false, but (R) is correct.

The following is the general policy for A class items in ABC analysis :
1. Very strict control

2. Frequent review of their consumption

3. Safety stock kept

Which of these statement/s is/are correct ?

(a) 1 only (b) 1 and?2only

(c) 2only (d 1,2and3

In the EOQ model, if the unit ordering cost gets doubled, then the EOQ will be
(a) reduced to half (b) doubled

(¢) increased 1.414 times (d) decreased 1.414 times

Value engineering is necessary to be used when the following symptoms are indicated
1.  New product designs are to be introduced.

2. The firm is unable to meet delivery date.

3. Rate of return on investment goes down.

Which of the above statement/s is/are correct ?

(a 1,2&3 (b) 2 only

(c) 1&3only (d) 2 &3only

The leaving basic variable in simplex method is the basic variable that
(a) has the lowest value.

(b) has the largest coefficient in the key row.

(c) goes to zero first, as the entering basic variable is increased.

(d) has the smallest coefficient in the key row.
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80.
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Al U. 9. 76-77 & foQ : TS MU 3Af7eher (A) T HROT (R) H Tel T & g0 :

AFEAT (A) @ I (I9eTSOT S TERT AN | Al o qeheiehl 9 Sgcl € |
FRT (R) :  TUARATT G 8 E Sl Ao | AEwIl 9US il Argl o § qod §

TEEEe |

F:

(@) TE(A) 3R (R) TEE 1 (R), (A) I T ARATE |
(b) M (A) 3R (R) TEE | (R), (A) l T&l AT TR & |
() (A)TEE R (R)TTE |

(d) (A) T E, R (R) T & |

AT (A) @ AT THISEEIE fafy ZRAueIH W B e TS UREE TERT
I & USH FATE |

HROT (R) : aTTeq faty Afzad & Qa8 HH Jod & 93 i ST AT |

%l

(a) ST (A) 3R (R) T E 1 (R), (A) il G&l ARATE |
(b) HT(A) 3R (R) TEE | (R), (A) i T&l AR TR & |
() (A)TEE, W(QR)TAAE |

(d (A)TEAE, W(R) T&E |

LY. [avesor § A o o 0S5 o fold Feetanad | Aiid #
1. ogd §&T FEA

2. 3Toh GUd I AR THIET

3. I Wi

TR H W BT TR ?

() et 1 (b) 1 3R 2%

(c) HaA?2 (d 1,233

EOQ Hieet H§ IS gehre TSI AN &1 7T & Y, at EOQ =T g1t ?

(a) HZH 3T @ ST | (b) T IATE ST |

() 1.414 TAT g STE | (d)  1.414 T g2 SO |

T ANTHITETR! BT T e STereaeh € STel =T oAeTont st Hehel &
1. 0 3 fesied e & fom ovr feman man |

2. o Fuiia far m s e 9 smd B |

3. THa9r R ufqwer o6t <X = ol ST € |

ST HIT HE T BT & ?
(@ 1,233 (b) HaA2
(c) 1 3R 3HaeA (d) 2 3R 3 %HaA

Tomere faf o sie a1en gHER! =R 98 gHER! =R g e, s
(a) T FHAAFE |

(b) & UMK | T ST 0N & |

(c) &S [ T RS TGl & ST YS¥T ST TR g SIAT € |
(d) T=F UfeRT | SieT Ui & |
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86.

87.

88.

89.

90.

91.

ABC analysis is used in
(a) Job analysis (b) Production Schedule
(c) Inventory Control (d) Simulation

In ABC analysis, ‘A’ items are responsible to share approximately the following
percentage of cost :

(a 80 (b) 60

(c) 40 (d 20

BEP indicates the recovery of

(a) variable costs only

(b) both fixed and variable costs

(c) fixed cost only

(d) both fixed and variable costs along with margin of profit

Which of the following is true about the initial basic feasible solution in simplex method ?
(a) Itis an optimal solution. (b) All basic variables are zero.
(c)  Solution is not possible. (d)  Any one basic variable in zero

The probability law used for calculating the control limits of ‘P’ chart is
(a) Binomial (b) Poisson
(¢) Normal (d) Exponential

If P = % activity and A = limit of accuracy in work sampling. The number of observations
at a confidence level of 95% is given by

a-p 2(0-P)
(a) AZP (b) A2P

31-P 4(1 - P
©) (A2P : G (A2P :

When order quantity increases, the ordering cost will
(a) increase (b) decrease
(c) remains same (d) None of the above

Which type of layout is preferred in order to avoid excessive multiplication of facilities ?
(a) Process layout (b)  Product layout

(c) Fixed position layout (d) Cellular manufacturing

An assembly activity is represented in an operation process chart by the symbol

(@ -~ (b)) A

(¢ D (d =

In an m X n transportation problem, the maximum number of basic variables is
(@) m+n (b) m-n

(c) m+n-1 (d m+n+1
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TS, fIeeAsor 1 v e TR ST €

(a) o fagetoor (b) ST ST

(c) e gt faiaror (d) Tageree (3T
THLE 90T o ‘A’ TE1 ol STRETE! ShiAd ST TTesTd e (Hefeiiad i €
(@) 80 (b) 60

(c) 40 (d) 20

2. f d F ferent g it ot e ear g ?
(a) Hoet URETdd AT i

(b) T R e URardd oeTar i

(c) Haet Feer o i

(d) T FeR T uREtad ANl o TTeF 3G o i

= 5 @ e an Fmcter fafy o uRfvres smurea defed got & T 9 2

(a) TETATEABATE | (b) T FURYT W I & & |
(c) & gre Tél el | (d) IS TH SURYA R IJIEATE |
Triferehet T, St P’ = ot feisor dwrett st o H e gt §

(a) TuR (b) @l

(c) = (AT (d) =R =TT

A YiaaaT | 4fg P = Tidtary shr uiderd o2 A = Jemelar sl S &1, @ 95% foveraiadr &1
T&0T i HeeT Bl &

a-p 2(1-p)
(a) AZP (b) A2P
3(1-P) 41 -P)
(C) A2P (d) A2P
ST BTSN AT St €, aF 3R B i hiFd
(a) ST (b) =T
(c) THH T (d) 3IFFH I HIE &l
GiaemaT o STcafes O F HH FH o [0 fohd oRE 1 -3 AT ST § 2
(a) UHH A-3M3E (b) 3 A-313E
(c) Traa fefa &F-amse (d) TIeR I
Teh GishaT Ush A1 § 3Tl Wi ot Ueiid e il S &
(@ ~ b) A
(¢ D @ =
T m X n ZIAUEIH GO § S SR el i S gt §
(@) m+n (b) m-n
(c) m+n-1 (d m+n+1
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99.

100.

In the model M/M/I : «o/FCFES with utilization factor p, the expected line length is equal to

1
@ 1-p ® T
_b _p*
© 15 @ 75
Group ‘C’ items constitute the following percentage of items in ABC analysis :
(a 10 (b) 20
() 50 d 70

In linear programming problem, the shadow price is
(a) the value assigned to one unit capacity

(b) the maximum cost per unit item

(c) the lowest sale price

(d) None of the above

Annual demand for a product, costing ~ 100 per piece, is 900. Ordering cost per order is
" 100 and the holding cost is * 2 per unit per year.

The economic order quantity is

(a) 200 (b) 300

(c) 400 (d) 500

The mathematical technique for finding the best use of limited resources of a company in
the optimum manner is known as

(a) Value analysis (b) Network analysis

(c) Linear programming (d) Queuing theory

Which of the following charts indicates variability of variability within the collected
samples ?

(a) X chart (b) o chart
(c) cchart (d) uchart

Which statement is wrong about diamagnetic materials ?
(a) Their susceptibility is positive. (b)  Their permeability is less than one.
(¢)  Super-conductors are diamagnetic.  (d) They repel the external magnetic flux.

Super conductivity is that state of a material at which it electrical resistance
(a) becomes zero.

(b) becomes infinite.

(c) starts showing a change.

(d) stops being affected by temperature change.

The difference between Graphite and Diamond is that

(a) Diamond is transparent while Graphite is opaque.

(b) Diamond is insulator while Graphite is conductor.

(c) Diamond has all primary bonds while Graphite has three primary and one secondary
bonds.

(d) All the above
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Higet M/M/I : oo/FCES | Tkt SUifirar 7utie p &, Siifed s st owag el €
1

@ 1-p ® 75

© 155 I

ABC foveiwor § 9qe ‘C’ #al o1 wiaerd = grar s

(@ 10 (b) 20

(¢ 50 (d 70

T YT gEE § 9T god gt §

(a) UShich IHIE &THAT I i T (b) T THE T T Aeyhed T
(c) T=d %A fashl o (d) STEFH G HIE TEl

* 100 T AT aTell Yk 3cTE o feTu afes /17 900 & | Uid STe¥ o feTw et amma © 100 3%
TR TR 2 Wil Seae e €, a foeeadt Sewr S §
(a) 200 (b) 300
(c) 400 (d) 500

Teh AT o FITHT TGTEA] Sl Ihd ™ aiich 4 Tad 3731 ST UH o foiu fe= iore derdie
I T AT &

(a) HoA faweroor (b) STTeTeh foreersoT

(c) e wARTH (d) AR e
frefead & | i 91 A1 Ui AT § TREd-SerdT oht TREd-T9eta s ST € 2
(@) X (b) o=@

(€) cTe d) uwE

T rerehd TRTEH o SR H I T A A € 2

(a) TRl AEITTEhal €FTCHe Bl € |

(b) SR YATIM H A TH T FHEME |
(c) TRH-TTCAH Td THIhiT erd € |

(d) o ST JHIhIT FoToT i UTqehitd i © |

TR TTCThdT Rl UsTel ohi o Fedfd gielt & <7 Sqeht foge uiakry
(a) TIRSAE |

(b) ITETE L |

(c) URaEAd &= e |

(d) AIHE @ geqferd BT S AT |

UThIZE 3R ER | I8 SR & & T

(a) TR YRGS BT &, STath NHIES URIM erar g |

(b) ERT FTCI BT &, STaeh UHIZE YeTTh BT & |

(c) ER Y IR ¥ ek gid €, Siafeh UhIee 9 di- urfies 3R ueh fgdias M ad € |
(d) SR TNTEEE |
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101. Identify the pair which has same dimensions :
(a) Force and power (b) Energy and work
(c) Momentum and energy (d) Impulse and momentum

102. In the following figure, the tension in the rope AC is

10 kg
(a) 17.32N (b) 56.60N
(c) 16990N (d 113.20N

103. The maximum frictional force, which comes into play, when a body just begins to slide
over the surface of the other body, is known as

(a) Limiting friction (b)  Static friction
(c) Dynamic friction (d) Coefficient of friction

104. A body subjected to coplanar non-concurrent forces will remain in a state of equilibrium if
(@ 2F =0 (b) ZFy =0
(c) 2M=0 (d)  All the above three

105. A rigid body is subjected to non-coplanar concurrent force system. If the body is to remain
in a state of equilibrium, then

() YF,= YF =YF,=0 () XM, = XM =0
(c) ZMy =2M =0 (d) None of the above

106. One end of an uniform ladder, of length L and weight W, rests against a rough vertical
wall and the other end rests on rough horizontal ground. The coefficient of friction f is
same at each end. The inclination of ladder when it is on the point of slipping is

2 2
(a) tan™! (1 2ff j (b) tan™! (1 ;ff j

2f 2f
o 0wy

107. In the analysis of truss, the force system acting at each pin
(a) 1is concurrent but not coplanar.
(b) 1is coplanar and concurrent.
(c) 1is coplanar and non-concurrent.
(d) does not satisfy rotational equilibrium.
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101.

102.

103.

104.

10s.

106.

107.

(a) o1 3R vl (b) Fell AR HE
(c) HAT AR Tl (d) 3TET AR Gam
T ieE d, T ACH dE§ ¢
D
30°
4 A
C?
2 90°|‘
B
[ ]
10 kg
(@ 17.32N (b) 56.60 N
(c) 169.90 N (d 11320N

TF Tug g U o ¥ & W I e TR Hd THT O Tl SIeshas gyl Jef i
f=feiad 9 5 ST ST g

(a) S =T (b) T Tor

(c)  TIiceh TuOT (d) =S IUTER

e e STHUIEr GHAAT Tl & o= O FRTere § s+ @, I

(a) YF =0 (b) XF,=0

© XIM=0 (d) ST Al

T gg Ue W STHHAAS ST St o o ¥el &, AfE vs qramewn | &, af
(a) XF = YF =YF,=0 (b) XM, = XM, =0

(©) XM, =3M,=0 (d) 3IFFH I HIE &l

AHEE L T YR W Sl ThaH 9ig! 1 U X1 ¥6T SeateR JeR W feeh & qe SEsT 16vT wef
&t R W fehr & | g TR X gy 7ot £ 99 & it 1 g, ST o8 3ish QuuT e
el &, g

1-f2 1+f2
@ tan—l( ! j (b) tan-l( b )
2f 2f
(c) tan™! (1+f2) (d) tan’! (1_f2)
29 o [a9etooT |, Teieh 09 W §cf JoTelt |
(a) I & AT GHaeld T8l & | (b) HHIAT TG |
(c) HHAT Ue STETHI & | (d) IO QT el T |

SES-05 29 Series-A



108.

109.

110.

111.

112.

113.

For truss as shown below, the forces in the member AB and AC are

80 kN 60 kN

B D

A 60° 60° 60°  60° E

7AN C JAS

|[€&—— 3m —>e——3m —>

(a) Tensile in each

(b) Compressive in each

(c) Compressive and Tensile respectively
(d) Tensile and Compressive respectively

Two equal and mutually perpendicular forces of magnitude ‘P’, are acting at a point. Their
resultant force will be

(ay P \/5, at an angle of 30° with the line of action of any one force.
(b) P \/5, at an angle of 45° with the line of action of each force.

(c) 2P \/5, at an angle of 45° with the line of action of each force.
(d) Zero

The relationship, between number of joints (J), and the number of members (m), in a
perfect truss, is given by

() m=3j-2 (b) m=2j-3
() m=j-2 (d m=2j-1

Four forces P, 2P, 3 P & 4P act along the sides of a square, taken in order. The resultant
force is

(a) zero (b) 5P
© 202P d) 2P

According to the Newton’s law of gravitation, the force of attraction, between the bodies
of masses m; and m, situated at a distance ‘d’ apart, is given by
2 2

mlm2 mlmz
@ F=G—p ® F=G—p

2.2

m.m m,m

1772 1772
(© F=G—g (@ F=G—gp

Varignon’s theorem is related to
(a) Principle of moments (b)  Principle of momentum
(c) Principle of force (d) Principle of inertia
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108.

109.

= feame 0 Bq et & sEFEl AB AT AC H It &
80 kN 60 kN

B D

60° 60° 60°  60°

A E
C
l€¢— 3m —>¢——3m —>I
() WHF T (b) v grdie
(c) THEST: TS T o-Td (d) ST T T G

T U Td RER AT Fot, FSTaehT aiTor ‘P’ &, Ueh forg R iR € | SHehT URuTH 56 g
(a) P2, gl U oe7 ot SrEhRT G99 30°

(b) PA[2, Sl ael = R e @ 45° W

(c) 2PA[2, Sl oIt i SrEeRRT fEwm @ 45°

@ 7=
110. U TSI S hell | SHST ol T (j) TS 31aFall bl AT (m) H T 76T eial &
(1) m=3j—2 (b) m=2j-3
© m=j-2 @ m=2j-1
111. IR P, 2P, 3 P 3T 4P fohdl ot oht TR YSTST o T T BRI &, ST UNOUMHT STeT T 81T 2
(@ I (b) /5P
(© 2P d) 2P
112, =27 o THeoshu ol F2H % S8R m, T8 m, T & & favel, st 6 ‘& S W fem e, &
S SR T T FETAREd FRT 9T AT &
mlmg m%m2
@ F=G—p b) F=G—p
m2m2
© F=G—p5 (d) F=Gmérzn2
113. ST & 70 FHAfeiad @ Taied ¢
(a) 3ot fergr (b)  ET g
(c) o fagr (d) e s
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114.

115.

116.

117.

118.

119.

120.

Choose the correct relationship between the given statements of Assertion (A) and Reason
(R).

Assertion (A) : Only axial forces act in members of roof trusses.
Reason (R) :  Truss members are welded together.
Code :

(a) Both (A) & (R) are correct. (R) is the correct explanation of (A).

(b) Both (A) & (R) are correct. (R) is not the correct explanation of (A).
(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

If a force of 30 N is required to move a mass of 35 kg on a flat surface horizontally at a
constant velocity, what will be the coefficient of friction ?

(a) 0.067 (b) 0.087
(c) 0.098 (d) 0.092

A train crosses a tunnel in 30 seconds time. The speed of the train at entry and at exit from
the tunnel are 36 and 54 km/hour respectively. If acceleration remains constant, the length
of the tunnel is

(@ 350m (b) 360 m
(c) 375m (d 400m

If T, and T, are the initial and final tensions of an elastic string and x, and x, are the
corresponding extensions, then the work done is

(a) (T2 + Tl) (x, — xl) (b) (T, - Tl) (xg + xl)
(T, =T, (x, +x;) (T, +T,) (x, —x;)
(C) 2 12 2 1 (d) 2 12 2 1

The escape velocity on the surface of the earth is
(a) 11.2km/s (b) 8.2 km/s
(¢) 3.2km/s (d) 1.2 km/s

A motor boat whose speed in still water is 15 km/hr goes 30 km downstream and comes
back in a total time of four and half hours. The stream has a speed of

(a) 3 km/hr (b) 4 km/hr
(¢) 5 km/hr (d 6 km/hr

If the period of oscillation is to become double, then

(a) the length of simple pendulum should be doubled.
(b) the length of simple pendulum should be quadrupled.
(c) the mass of the pendulum should be doubled.

(d) the length and mass should be doubled.
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114.

115.

116.

117.

118.

119.

120.

fSU TT oMt ° O ATTEHEE (A) T FHROT (R) o & el Grarw AT foehed giu -
ANTFET (A) : oA Hdl P FTIE H haeT ST TA AN &I & |

FROT (R) : DF HE % I doE [FUET eI € |

Fe:

(a) T (A) T(R) T E 1 (R), (A) T TE ATATE |

(b) T (A) T (R) T 1 (R), (A) ! T&l ATAT TR & |

(¢) (A)WEE, Al (R) Td & |

(d) (A) 7o €, AR (R) TETE |

Teh GHAA Gag W 35 fhelium & o9 ot Tl & el 30 N & oct i {a9dshar ¢ | a5 39
giferst feem o uep e o @ <o ST, at ST ot T g 2

(a) 0.067 (b) 0.087

(c) 0.098 (d) 0.092

T 29 UF GOTH § Fehor § 30 Yhve 1 T0 ol € | GOT H T W 3R 1R oot g0
29 1A HAIM: 36 km/hr 3R 54 km/hr & | SR @R0T T A 2R &, @t GO i oTwirg gt

(@) 350m (b) 360 m

() 375m (d 400 m

I T, 3R T, T TR R & YR R i oo € a0 x, 31 x, 390 shmen: oo g o,
T G~ HE &

(@ (T +T) (x,—x)) () (T,=T) (x, +xp)
(T,=T) (x, +x;) (T, +T,) (x, —x,)

© 2 12 2 X @ 2 12 25

Jedl o ERTAeT T I o7 ST T &I

(a) 11.2km/s (b) 8.2km/s

(¢c) 3.2km/s (d) 1.2km/s

Teh AieX =19 et 7 feeR o 7 15 kmv/hr 8, 30 km 91 3 <19 o1 {G9m § STt @ 3R R
G A €, [TEH 3T Te TR = 1 GHF AT €, €RT % Se1dl i it et

(a) 3 km/hr (b) 4 km/hr

(¢) 5km/hr (d) 6 km/hr

I o hiet ST & 57T &,

(a) TR 3Tk ol oTlTe ]F T g =1fe |
(b) T JIeTh h TTITE TR T[0T BT =My |
(c)  SIcTeh 1 S| &1 7T &I e |

(d) g T SSI9H &1 T[T €T Ay |
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121.

122.

123.

124.

125.

126.

127.

Choose the correct relationship between the given statements of Assertion (A) and
Reason (R).

Assertion (A) : A dynamically system of multiple rotors on a shaft can rotate
smoothly at the critical speeds of the system.
Reason (R) : Dynamic balancing eliminates all the unbalanced forces and couples

from the system.
Code :
(a) Both (A) and (R) are true. (R) is the correct explanation of (A).
(b) Both (A) and (R) are true. (R) is not the correct explanation of (A).
(¢) (A)is true, but (R) is false.
(d) (A)is false, but (R) is true.

A spring scale reads 20 N as it pulls a 5.0 kg mass across a table. what is the magnitude of
the force exerted by the mass on the spring scale ?

(a) 40N (b) 50N

(c) 200N (d 490N

A thin circular ring of mass 100 kg and radius 2 m resting on a smooth surface is
subjected to a sudden application of a tangential force of 300 N at a point on its periphery.
The angular acceleration of the ring will be

(a) 1.0 rad/sec? (b) 1.5 rad/sec?
(c) 2.0rad/sec? (d) 2.5rad/sec?

The loss of kinetic energy, during inelastic impact of two bodies having masses m, and

m,, which are moving with velocity v, and v, respectively, is given by

m,m 2(m, + m,)

(a) m v, —v2)2 (b) #(Vl —v2)2
m,m 2(m, + m,)

© g rmy VTV @ s 1V

The unit of energy in S.I unit is

(@) Dyne (b) Watt

(c) Newton (d) Joule

Polar nioment of inertia of an equilateral triangle of side ‘x’ is given by
ONT: ®) 1;/5

© ;—; (@ g—j

Poison’s ratio is the ratio of

(a) Lateral stress to longitudinal stress
(b) Lateral stress to longitudinal strains
(c) Lateral strain to longitudinal strain
(d) Shear stress to shear strain
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121.

122.

123.

124.

125.

126.

127.

TSU T oMt § ¥ AT (A) TAT HROT (R) B Tel T I AT foehed giu |

e (A) @ TS TIiqeie Hferd v, T W &g X o €, F8 fhfesret fa W gas w9 @
I gl € |

FHROT (R) s TIcTeTeT Weor, STt Setl X SetgrHT i fer ¥ goT T Iar g |

Fe:

(a) TE(A) T (R) TEE | (R), (A) Fl Tel ARATE |

(b) I (A) T (R) WEIE 1 (R), (A) ! T&l ATAT TR & |

() (A)TWIETWRR) TWITIT |

(d) (A)TETRIERR) T |

T FOIT Whet 51 W ¥ 5 kg o FSF0H Sl Gied T 20 =2 6 AT 97T € | §7m= 517 18T
Thel W AT AT STt e 81 2

(a) 40N (b) 50N

(c) 20.0N (d 490N

T TcAl IR s, FTaeht §emm 100 feretium qor Brear 2 HieX &, U fo aade I ferd
3Th A o Th &5 W TAMF 300 A T TRREE FeT T ST &, Toid Hl hivig =0T
Trefetfiaa g :

(a) 1.0 T Uid Ypue? (b) 1.5 T uld Yhve?

(c) 2.0 T uid Ypve? (d) 2.5 T uld ghve?

31 fuet feh g2M m, T m, € AR A v, T v, % o7 § TR € | ST Hog i 52 9
TIITST Sott T BT ATt 2 :

m;m 2(m, +m,)
(@) 2(mll+ inz) (V) =V, (b) ﬁﬁh -V,
mym 2(m, + m,)
© 2(mll+ inz) (Vi =v)) (d) ﬁ (Vi =V3)
S.1. Ugfa | ST & 9Tk §
(a) ST (b) @
() T (d) ST
T GHETE T TRl ST ot oaTg “x’ & | ST WoR STeeel 0T (He=ieiiad i :
4 4
@ g ® 1
4 4
© 3 @ o
WGl S Bl &

(a) U9 Vfderet qeT SFe Uideet o1 ST
(b) TS Ufdeer qe S faghid T U
(c) TS forpta oo S faepid &t St
(d)  3TIETUT YTcTae] T STIEYUT foTehidl T 3Tt
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128.

129.

130.

131.

132.

133.

134.

135.

136.

137.

If the sum of all the forces acting on a moving object is zero, the object will
(a) continue moving with constant velocity

(b) accelerate uniformly

(c) change the direction of motion

(d) slow down and stop

Dynamic friction as compared to static friction is
(@) less (b) same
(c) more (d) None of the above

When a body is thrown up at an angle of 45° with a velocity of 100 m/sec, it describes a
parabola. Its velocity on point of return down will be

(a) zero (b) 50 m/sec

() 100A[2 m/s (d)  100~/2 m/sec

A projectile on a level ground will have maximum range if the angle of projection is
(a) 30° (b) 45°

(c) 60° d 75°

Which one of the following is not an example of plane motion ?
(a) Motion of a duster on a black board.

(b) Motion of ball point of pen on the paper.

(c) Motion of a cursor on the computer screen.

(d) Motion of a nut on a threaded bolt.

Which one of the following is a scalar quantity ?
(a) Force (b) Displacement
(c) Speed (d) Velocity

A 44 N block is thrust up a 30° inclined plane with an initial speed of 5 m/sec. It travels a
distance of 1.5 m before it comes to rest. The frictional force acting upon it would be

(a) 183N (b) 153N

(c) 123N (d 93N

A body is moving with a velocity 1 m/s and a force F is needed to stop it within a certain
distance. If the speed of the body becomes three times, the force needed to stop it within
the same distance would be

(@ 15F (b) 3.0F
(c) 60F (d 90F
dm
In a loaded beam, the term A represents
(a) Deflection at a section (b) Slope at a section
(c) Intensity of loading at a section (d) Shear force at a section

A beam is of rectangular section. The distribution of shearing stress across a section is
(a) Parabolic (b) Rectangular
(c) Triangular (d) None of the above
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128.

129.

130.

131.

132.

133.

134.

135.

136.

137.

ffs o Tt AT TR R AT W A 9 A 9 5, A A

(a) Terwiad nfaqm @ | (b) UF FHM A &I |
(c) 3T T ol o S5t o | (d) it greRT Tk U |
TSt =T 7R FT R o |

(a) AT (b) TEE I

(c) 3fuFg | (d) SHFTHIFETE |

Ifs we fve FW e § 45° H0T R 100 HeX Ufd GHUE F o § %Rl ST &, af 98 TH
TRECT ST & | ST a7 Aot fovg ) Feferfiad g

(a) = (b) 50 m/sec

(¢) 100Af2 m/s (d) 10042 m/sec

T &ifAsT 9T IR T V&Y 1 IR STeha™ g1, A7S T&Iq0T v 1 1 &
(a) 30° (b) 45°

() 60° (d 75°

et & | oI |1 Teh G TTi] ol 3107 Ta1 € 2

(a) =i SE W ST I TG (b) STl @EE U i IS | A
(c) TR BRI W HEI Hf 1T (d) ISR seg T = Hhi Thd
fr=Teiad & 9 i 9 U SAfeer AT e 2

(a) A (b) Tomm=

() = (d) =

T 44 =2 % A1k il 30° W Ik §T THAA & W 5 HI. U YRS Y SR T & HST A
T 198 EFh | Teet 1.5 HieX &l U T FRAT & | 3 W o STl J07 e (fetrad & :

(a) 183 (b)y 153=FeA

(c) 1237 (d) 937

U v S fF 1 . uiq ¥Rve A W T W e | W TP T W AHA * ol F oA
STTTIHAT TSl & | 3R ST I ol T A T[AT S T &1 ST, T ITRT 31 & g § Ak o forw
YIS Tt 2

(@ 1.5F (b) 3.0F

(c) 6.0F (d 9.0F

¢ d fa o o
Wﬂﬁﬁ%ﬁﬁam oI ht oo AT & :

(a) U =T W faadq (b) U U= T TS0

(c) U =T W WRAmd (d) TH IRT W TEYT FA
Teh STIATHR TREE hi € o fohdl T=se I 3T9&Y0T Yidee ol e &I

(a) U (b) TEAHR

(c) IR (d) SUgFH T HE Tl
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138. In a stressed field, the change in angle between two initially perpendicular lines is called
(a) Normal strain (b)  Shear strain
(c) Principal strain (d) Poisson’s ratio

139. A metallic cube is subjected to equal pressure (P) on its all the six faces. If € is

) ) . P .
volumetric strain produced, the ratio e_ is called
v

(a) Elastic modulus (b) Shear modulus
(¢c) Bulk modulus (d) Strain-Energy per unit volume

140. To express stress-strain relations for a linearly elastic, homogeneous, isotropic material,
minimum number of material constants needed are

(a) Two (b) Three
(¢) Four (d) One

141. A tension member with a cross-sectional area of 30 mm? resists a load of 60 kN. What is
the normal stress induced on the plane of maximum shear stress ?

(@) 2 kN/mm?2 (b) 1 kN/mm?
(¢) 4 kN/mm?2 (d 3 kN/mm?

142. If the Mohr’s circle for a state of stress becomes a point, the state of stress is
(a) Pure shear state of stress (b) Uniaxial state of stress

(c) Identical principal stresses (d) None of the above

143. Torsional rigidity of a solid cylindrical shaft of diameter ‘d’ is proportional to

@ d b) @
1
© d& @

144. In theory of simple bending of beams, which one of the following assumptions is
incorrect ?

(a) Elastic modulus in tension and compression are same for the beam materials.
(b) Plane sections remain plane before and after bending.

(c) Beam is initially straight.

(d) Beam material should not be brittle.

145. A cylindrical shell of diameter 200 mm and wall thickness 5 mm is subjected to internal
fluid pressure of 10 N/mm?. Maximum shearing stress induced in the shell in N/mm?, is
(@ 50 (b) 75
(© 100 (d) 200
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138.

139.

140.

141.

142.

143.

144.

145.

Teh UicereT &5 | g 3R | e {@13f o qe shivT IRed ol f=fetiad el ST e

(a)  AToT ferepia (b) FTaEgo fagfa

(c) A fopfa (d) eITET ST

e Uifcarsh B % B8 Hotehl T THHAH 319 (P) foramefier & @ 369 Sea st fagfd e 7 |
Wgﬁﬁmﬁf@ﬁww%:

(a) VTR HIUTH

(b) UL HIUTH

(c) STIdreh ATIh

(d) UTd Uehieh ST faehf il

T YET YA, G T G U1 o fofu uiqeret Ud fapfd § Hey oo s & e
A FeeRieh fohc TTava gt ?

(@) & (b) @

(c) =W d s

T T 37T et SR 12 30 mm? §, Tk 60 kN & 37871 R ot 98+ T & | 37ad &
ATIHAH TTEYUT FHAA U 3TTAT TiceleT T TRHTOT BT

(@) 2 kN/mm? (b) 1 kN/mm?
(c) 4 kN/mm? (d) 3 kN/mm?

i ot wicaret Tareen o fofu iR g fowg &t ST &, a9 98 Uideel S1ae gt
(a) ¥ STIEUT Ut STaw

(b)  37&frT widqereT STerwen

(c) UHTHM U UfcTaet Taedn

(d) ST H  HIE TRl

T 3T TR T T TRIST Gl (ARG o ST &1, STaeh 3o o =41 ‘d” &
(@ d (b) d?

1
© d& @

¥R % WA §h (G H FAfaiad § 9 i 9 T oo T T8l 781 ¢ 2
(a) T S TS H T Wi THAA & |

(b) T W TH TS YT FHACT UK FHAA T § |

() XTI Y G et e |

(d) & ST TR & & AT |

TS SR R, FSTaeRt =am 200 ot qor wier 5 e €, 9 10 =ge= uid o fHH. & tidies
T ST T T & | ST H Scq STeeheld STEqUT Hideiel =1 Wid o et H Fetettad i -

(a) 50 (b) 75

() 100 (d) 200
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146.

147.

148.

149.

150.

151.

Consider the following statements :

I.  An LC. engine transforms chemical energy into mechanical energy.
2. A compressed spring possess potential energy.

3. A football rolling on the ground performs plane motion.

4.  Strain gauges are used to measure torque.

Following are the correct statements :

(@) 1and?2only (b) 2 and3 only

(c) 3 and4only (d) 1,2 and4 only

In a static tension tests of a low carbon steel sample, the gauge length affects
(a) yield stress

(b) ultimate tensile stress

(c) percentage elongation

(d) percentage reduction in cross-sectional area

One end of a metallic rod is fixed rigidly and its temperature is raised. It will experience
(a) zero stress (b) tensile stress
(c) compressive stress (d) None of the above

Two cantilever steel beams of identical length and of rectangular section are subjected to
same point load at their free end. In one beam, the longer side of section is vertical, while
in the other, it is horizontal. Beams defect at free end :

(a) equally irrespective of their disposition.

(b) more in case of longer side vertical.

(c) lessin case of longer side horizontal.

(d) less in case of longer side vertical.

A long column of length (/) with both ends hinged, is to be subjected to axial load. For the
calculation of Euler’s buckling load, its equivalent length is

(@ 112 b) A2
() 1 (dy 21

Match List — I with List — II and select the correct answer using the code given below the
lists.
List -1 List - II
(Characteristic) (Member)

A. Kernel of section 1.  Helical spring
B. Tie and Strut 2. Bending of beams
C.  Section modulus 3. Eccentric loading of short column
D.  Stiffness 4. Roof truss
Code :
A B CcC D
(@ 1 2 3 4
(b) 3 4 2 1
0 4 1 2 3
@ 2 3 1 4
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14e.

147.

148.

149.

150.

151.

frferfiad et W e ST

1.  3iceed 399 | THEH Soll i Soll § ogef et @ |

2. U gited o o fefast s g € |

3. STHIM W oIkl HeaTel THAei Tid SRl & |

4,  Topid woTdr | 6T ST AT SAA L |

et e Wl €

(a) haet | 32 (b) ot 2 X 3

(c) a3 A4 (d) HaeTl, 23R4

= e TEd o TR d9 IAeTr § ST ofeTg Yo i € -

(a) TYE Uidqee (b) TRH T AT

(c) v 3ed gig (d)  3TIV e B wicerd st

TS e D o Ueh Y 1 ¢ 55 (64T 7T & T SHRT A7 STl T € | 39 Fefetfad s
B

() ¥ vt (b) T wicrerer

(c) Hure uiqeret (d) STEFH Y HIE TEl

T THTH STAATHR IREST i SLT/ITT 61 o o -1 O Teh T Fehesl TR T STl €
| ST &RAT Y TS THAHH &, T Ueh H TRwS oht oTwll ST SHearer o S8t | I8 &ffaqsT € |
o R o1 faeia i -

(a) ST 4RAT H SRR AT |

(b) UREIT I TSI ST FHATER H T |

(c) TSI I & &St arett § Y |

(d) TSt T SRATER B WHA |

T 19 W R D ASE (/) & T 1 1R oI &, 3T8fT YR AT ST 8 | 3R 9 9
ST IR AT A & oAU JoaHH orTe &

@@ 12 (b) A2
© I d 2
eI — 1 o1 gl — I1 @ AT hifeTe a2 =i KU e i Temadr @ T8t s g0
g -1 g - 11
(FAfioTetoT (37erTa)
A,  URST HFAA 1. FUSHrd S
B. U4 gdie 2. A H R
C. UR=ST AMH 3. T HIoTH I Schal qROT
D. gaer 4. THZF
?o
A B C D
@ 1 2 3 4
b 3 4 2 1
© 4 1 2 3
@ 2 3 1 4

SES-05 41 Series-A



152.

153.

154.

155.

The bending moment diagram for a simply supported beam AB of length ‘L’ is shown
below :

Dl
+ <—%—>|
A T C B
e —>f _
DZ
M
CD1:CD2:7

Sagging moment : positive
Hugging moment : negative
What is the load acting on beam AB ?

M
(a) Anupward concentrated load 5 at C.

M
(b) A downward concentrated load 5 at C.

(c) An anticlockwise moment ‘M’ at C
(d) A clockwise moment ‘M’ at C.

Two simply supported beams of equal lengths, cross sectional areas, and section modulli,
are subjected to the same concentrated load at its mid-length. One beam is made of steel
and other is made of Aluminium. The maximum bending stress induced will be in

(a) Steel beam

(b) Aluminium beam

(c) Both beams of equal magnitude

(d) The beams according to their Elastic Moduli magnitude.

Two strips of equal lengths and widths are joined together by two rivets, one at each end.
One strip is of copper and the other of steel. Now, the temperature of this assembly is
lowered, the rivets will undergo.

(a) Bending (b) Single shear
(c) Double shear (d) Both (a) & (b) above

A uniform metal bar of weight ‘W’ length ‘I’, cross-sectional area ‘A’ is hung vertically
with its top end rigidly fixed. Which section of the bar will experience maximum shear
stress ?

(a) Top-section (b) Mid-section

(c) Bottom-section (d) /3 from top
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152. g (L) T U WA N 6RA AB T sich 0T 3TRE =g ST T €

M
CDl :CDZZE

3TaA ST © GAHS
3T ST : IR
¥RT AB W T STl IR 1€ 7
M

() cwwaﬁ%mﬁﬁﬁmﬁw;

(b) Cwqﬁﬁﬁwﬁﬁﬁw%
(c) C R aME S, ‘M’
(d) C W Ao STEet, ‘M’

153. 3T T YIRS &R THGHAM TS, SV Hle T TR T i ¢ | 37 He ohelg W
THTHH Wbl TR ST 7T & | Uk &R X7 § 2 SO o HI-a| ol o1 € | 3feeherd siche
et FrTetad § Seaw g
(a) TOEEERAH
(b) UgHIIH e=A |
(c) Tl &=AT H UH g
(d) ERAT % YAl "I & SR

154. <7 TEE IS q1 g i ufadi i o fRi @ e Sirer T €, S ufaat & R Wl & | T
Ot TS S T G SIS ot & | ATS T ST ST o =T T €, dt Rae | g
(a) S
(b) UeheT 3TUEYUT
(c) T5 sosum
(d) SR () T (b) I

155. T8 THTH S 6 TS HI, BT YR W, T <) T I FIE ‘A’ €, FEATER TEHhEl
T & TN SHHT SO T ATITh o5 & | 39 B o (6T IS W SAhed 3TqEI0T et ST
(7

(a) Y UR=sR

(b) BT I T TS e U]
(c) u=w foet uR=sg

(d IWIAIIW
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157.

158.

159.

160.

Which one of the following will result into a constant strength beam ?

(a) The bending moment at every section of the beam is constant.

(b)  Shear force at every section is same.

(c) The beam is of uniform section over its whole length.

(d) The ratio of bending moment to the section modulus for every section along the
length is same.

A beam of Z-section is called a
(a) doubly symmetric section beam (b) singly symmetric section beam
(c) a-symmetric section beam (d) none of the above

The outside diameter of a hollow shaft is twice its inside diameter. The ratio of its torque
carrying capacity to that of a solid shaft of the same material and the same outside
diameter is

(a) 15/16 (b) 3/4

() 172 (d) 116

Choose the correct relationship in the given statements of Assertion (A) and Reason (R).

Assertion (A) : A plane state of stress does not necessarily result into a plane state of
strain.

Reason (R) : Normal stresses acting along X and Y directions will also result into

strain along the Z-direction.
Code :
(a) Both (A) & (R) are correct. (R) is the correct explanation of (A).
(b) Both (A) & (R) are correct. (R) is not the correct explanation of (A).
(¢) (A)is true, but (R) is false.
(d) (A)is false, but (R) is true.

A body is subjected to two unequal like direct stresses ¢, and 0, in two mutually

perpendicular planes along with simple shear stress q
Sy

A
—>q

q

Gy Gy

—
q

v
G

Which among the following is then a wrong statement ?
(a) The principal stresses at a point are

2
Gl+62 61—62
Pva:Ti\/M 2 j”lz}

(b)  The position of principal planes with the plane of stress G, are

1 2
0, =5 tan! ——;6,=6, +45°

6,-6,

0,-60, ’
(¢) Maximum shear stress is (0,), .. =+ > +q?

(d) Planes of maximum shear are inclined at 45° to the principal planes.
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frfetaa o 9 foha ue fefa 0 e ded s g 2

(a) ®RA % U UReS T ThTHT ST 3TEOT § |

(b) TH URTT W & §cT THAHH ¢ |

(c) ¥R I IR HYUT o1l H THTTH ¢ |

(d) &Rl TEE T YIh IS o ToTU SiehT ST U U= W1k T STITd Uohaq= & |

Fie frd) ¥R T TRET, Z-3ThR 1 & o 98 4 el STl &
(a) e e uREsg (b) ST HHIAA U
(c) H-THHd uiT (d) SugFH Y HIE TRl

U WHEe 9 T el AT 3% AN AT HT AT &, df STk Torgul e ol &THaT i
3T 3 URTY o S 31 e T T 21 ? S YU T A, WEet I o STl ST o aReR &
(a) 15/16 (b) 3/4

() 12 (d) 116

TS0 U AT § SR (A) T HROT (R) H Tet T4 ool {ashed Bt |
AT (A) : T AT el & [oh Teh ST UTaTeT STaeIT Ueh GHIC foahid ST Seiw e |
FROUN(R)  : X AR Y N H & et siiyeis uidqeet Z-feen o o fogrid 9=1 e 37 |

%l

(a) 3 (A) TN (R) WAE 1 (R), (A) i Tl ATATE |
(b) THI (A) T (R) TEE | (R), (A) Tl Tel AT TRI & |
() (A)TEE RR)TAIL |

(d) (A)TATE, W(R) TETF |

e fIUg 31 S He¥ i Ui 6, 3R o, & SR SRt § & e e e At
Tl § o @1 €, Taw o ot ufderet g e @ e |

1)
N

q

S
Cd

q

q

q\

v

= | 9 I 91 Tl § ?2
(a) U g W g Uiqeet (=1 ¢

2
6, +0, 6, -6,
P, Py=—5 i\/{( 7 j +q2}

(b) Ufdee et o Trer g et ot fefq e €

_1_2CL;62=61+450
0,-6,

(c) SIhaT @YY Fideet =1 ¢

o, —0O 2
(Gt)max=i/\/|:( 12 2) +q°

(d) ST STTEIVT o At Hd deil & 45° W AT € |

1
61=§ tan
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161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Slenderness ratio has dimension of
(a) cm (b) cm™
(¢) cm? (d) None

1

When a body is subjected to direct tensile stresses (G, and Gy) in two mutually

perpendicular directions, accompanied by a simple shear stress Ty then in Mohr’s circle

method, the circle radius is taken as
6,—O c,+0

Xy Xy
(a) > + T, (b) > + T,

1 > 1 >
© 3 \/ (0,0, + 41, @ 5 \/ (0, +0,7 + 41
The ratio of hoop stress to longitudinal stress in thin walled cylinders is
(a 1 (by 172
(c) 2 d 1/4
The theory applicable for the analysis of thick cylinders, is
(a) Lame’s theory (b) Rankine’s theory
(c) Poisson’s theory (d) Caurbon’s theory

The unit of modulus of elasticity is same as those of
(a) stress, strain and pressure

(b) stress, pressure and modulus of rigidity

(c) stress, force and modulus of rigidity

(d) stress, force and pressure

The relation among the elastic constants E, G and K is

KG 9KG
(@) E=9K+G (b) E=K+G
9KG 9KG
© E=¥13G @ E=3r+G
Which of the following has no unit ?
(a) Kinematic viscosity (b) Strain
(c)  Surface Tension (d) Bulk Modulus

What does the elasticity of material enables it to do ?

(a) Regain the original shape after the removal of applied force.
(b) Draw into wires by the application of force.

(c) Resist fracture due to high impact.

(d) Retain deformation produced under load permanently.

Which of the following brakes is commonly used in motor cars ?

(a) Band Brake (b) Shoe Brake

(c) Internal expanding Shoe Brake (d) All the above

Which one of the following is not an example of higher pair ?

(a) Disc Cam and roller follower (b)  Spur Gear meshing teeth
(c) Ball Bearing (d) Bush Bearing
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164.

165.

166.

167.

168.

169.

170.

T 3T o fomT &
(@) cm (b) cm™!

(c) cm? (d) g TR

e U fiug W g e Rt § yeet a9 ideet (o, aﬁ'{oy)%wwww
TIeTaet T, T €, T IR Bl ot foifer o, et o6t foroen frefetfiaret ot <t & -

(a) Gx—;(sz + T, (b) Gx—;GX +T,,
1 1

© 5 \/ (6 - Gy)2 + 4*cx§ @ 5 \/ (o, + Gy)2 + 4Tx§
T AR ATt Sl § g9 Aideel 3R S Uideel Sl ST &
(@ 1 b)) 112
© 2 d) 1/4
A S & feeTooT & ST et Fefefad € :
(a) < I TEE (b) I = fagT
(c) gt 1 g (d) PRAF H TGS
AT HTY1h o AT o GH AT el THE FEfeiEd ¢
(a) Widee, fapia o s (b) e, 1 SR ggar HTaih
(c) videret, ST 3R ggaTl HIaih (d) wfase, 5t 3R T
T iRt E, G, K & o9 § gy fAfanad ©

KG 9KG
(a) E=9K+G (b) E=K+G

9KG 9KG
© E=¥713G @ E=3r G
frfetad & & fehgen! T et erdi € 2
(a) B T (b) forpfa
() IS (d) I HIUTH
TRT W AT 3 0T | T Fereree gt § 2

(a) VT T % g & SR, U Tt T ot U H AT |
(b) T % STHANT ERT AR & ¥4 F G S g |

(c) oI STET & HROT [ ol AT |

(d) R % FHROT I [TET0T i TR F F FAC @A E |

e miedt § WHRIE: I G sk ST {1 Sar g 2

(a) dvSS®H (b) IIF

(c) TR TaIRd I sk (d) Sude g
ffefiad & & i |1 Ush STaak T8 T SSe0T TE & 2

(a) Tt w qun e gt (b) TR R % siqaem da
(c) dfer aarT (d) T ART
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172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

The minimum number of teeth which can be cut for standard tooth for a given pressure
angle ‘¢’ the following

(@) sin? ¢/2 (b) 2/sin? ¢
() 2sin%¢ (d) sin22 0
When there is no slip, the power transmitted by belts is proportional to
@ (T,-T,)V (b)) (T, +Ty)V
(T, -T,)
() (T, /TYV @ —~
When two gear teeth are in mesh, then pure rolling occurs at the
(a) root of tooth (b) tip of tooth
(c) pitch point (d) flank

In a governor, if the equilibrium speed is constant for all radii of rotation of balls, the
governor is said to be

(a) stable governor (b) unstable governor

(c) inertia governor (d) isochronous governor

The instantaneous centre of rotation of a circular disc rolling on a straight path is at
(a) the centre of the disc (b) their point of contact

(c) the centre of gravity of the disc (d) infinity

For a safe design, a friction clutch is designed assuming

(a) uniform wear (b)  uniform pressure

(c) any one of the above (d) None of the above

In a simple gear train, there is odd number of idlers. The direction of rotation of the driver
and the driven gears will be

(a) same

(b) opposite

(c) depends upon the number of teeth of the gears

(d) depends upon the diameter of idlers used

In free vibrations, the acceleration vector leads the displacement vector by
(a) 73 (b) w2
(c) 2m/3 d =

At a certain speed, revolving shafts tend to vibrate violently in transverse directions, this
speed is known as

(a) whirling speed (b) critical speed

(c) whipping speed (d) All the above

If the speed of the engine varies between 390 and 410 rpm in a cycle of operation, the
coefficient of fluctuation of speed will be

(@ 0.01 (b) 0.03

(c) 0.05 (d) 0.07

When teeth formed on the cones are straight, the gears are known as
(a) worm gear (b) helical gear

(c) straight bevel (d) spiral bevel
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175.

176.

177.

178.

179.

180.

181.

T ST 7T J1 HIT “¢° % feTT T | HH It Bl G, T Uk LUeE I % feTu et S Wk €,
frefefad & sRER e

(@) sin® /2 (b) 2/sin% ¢
(c) 2sin%¢ (d) sin22 0
STe HYOT T @, o soe @ URTN TR GHIe gl €
(@ (T,-Ty)V b)) (T,+Ty)V
(T, =T,
© (T,/TH)V @ —~
3t TR ST 51 319 § oot €, af Y olied (efelied 9 g :
(a) 3 ! dell W (b) TIAH AT W
() fEfag™ d) wiFWR
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(a) wHH (b) Tawia
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o SHEAT H, TROT |GST foeero afeer & Syt g

(a) m/3 (b) =2

(c) 2m/3 d =

T AT Aot W g g8 99 9gd astt 9 STV Q9T § HE A Ol & | 39 Tt i el
ST &

(a) EACTT AT (b) HiTTH =

(c) feafwm=mer (d) SoE
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() 0.05 (d 0.07
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183.

184.

185.

186.

187.

188.

189.

190.

191.

192.

Creep in belts occurs due to which one of the following :

(a) Belt and pulley surfaces are smooth

(b) Beltis thick

(c) Due to unequal tensions on the two sides of the pulley
(d) The pulley diameters are large

The point on the Cam with maximum pressure angle is known as the

(a) Cam centre (b) Pitch point

(c) Trace point (d) Prime point

Static balancing involves balancing of

(a) forces (b) couples

(c) masses (d) All the above

The motion of a nut on a threaded bolt is

(a) Helical (b) Plane

(c) Spherical (d) None of the above

Spur gears have/are

(a) straight teeth perpendicular to the axis.

(b) curved teeth perpendicular to the axis.

(c) not subjected to axial thrust due to tooth load.
(d) subjected to axial thrust due to tooth load.

Coriolis’ component of acceleration occurs in
(a) quick return mechanism (b) four bar mechanism
(c) slider crank mechanism (d) none of the above

Identify the wrong statement :

(@) A mechanism is an assemblage of four or more links.

(b) A slider crank chain consists of two sliding pairs and two turning pairs.
(c) A kinematic chain requires at least four links and four turning pairs.

(d) Open pairs are those whose elements are not held together mechanically.

Any distributed mass can be replaced by two point masses to have the same dynamical

properties, if

(a) The sum of the two masses is equal to the total mass.

(b) The combined centre of mass coincides with that of the rod.

(c) The moment of inertia of two point masses about perpendicular axis through their
combined centre of mass is equal to that of the rod.

(d) All the above.

For steady state forced vibrations, the phase lag at resonance condition is

(a 0° (b) 45°

(c) 80° (d) 90°

The maximum efficiency of a screw jack having square threads and friction angle of 30°
will be

@ 11% (b) 20%

© 30% d 33%

If the damping factor for a vibrating system is unity, then the system is
(a) critically damped (b)  under damped

(c) over damped (d) zero damped
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192.
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194.

195.

196.

197.

198.

199.

200.

A gear train, in which at least one of the gear axes is in motion relative to the frame, is
known as

(a) reverted gear train (b) non-reverted gear train

(c) epicyclic gear train (d) none of the above

In a mechanism having six links, the number of instantaneous centres of rotation present
are

(a 15 (b) 12

) 9 d 6

A flywheel in an I.C. engine :

(a) controls the supply of fuel to the engine
(b)  controls the cyclic fluctuation of speed

(c) controls the speed variation due to load
(d) All the above

In a slotted lever and crank quick return mechanism used in shapers, the beginning and
end of cutting stroke occurs when

(a) cranked lever are in line with each other

(b) crank is perpendicular to lever

(¢) crank is horizontal

(d) lever is horizontal

Stress and Strain are tensor of

(a) zero-order (b) first order

(¢) second order (d) None of the above
Gx+(5y:er+Gyv: 0, +0,

The above relation is called

(a) independency of normal stresses (b) constancy of normal stresses
(c¢) first invariant of stress (d) all the above three

In a slider-crank mechanism, the piston velocity is maximum, when :
(a) Crank is perpendicular to line of stroke.

(b)  Crank and connecting rod are collinear.

(c) Crank is perpendicular to connecting rod.

(d) None of the above.

A body of weight w is supported by two springs as shown below. The equivalent spring
constant is :

1
K,
K, -K,

(a)
(©

1
tK

[\
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